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You intend to take a trip from your base to Ganymede. You have a spaceship which you will use
for the whole trip. It will take some fuel to get there, some fuel to traverse part of the moon,
and some fuel to get back to the base.

There are some points on Ganymede you can visit. The map of Ganymede is given as a graph
where the weight of each vertex is equal to the amount of fuel it will take to traverse between
the corresponding point and your base. The weight of each edge equals to the amount of fuel
it will take to traverse between vertices which are connected by the edge, in either direction.
In order for your trip to be reasonable, you do not want to visit any edge or any vertex twice.
However, you have to traverse at least one edge.

What is the least amount of fuel you will need to accomplish such a trip?

Input Specification

First line of the input contains two integers N and M, the number of vertices and edges, respec-
tively (1 < N < 10%,0 < M < min ((g), 2. 104)). Next line contains N integers vg, v1,...,VN_1
(1 < w; <10%), weights of respective vertices 0,1,..., N — 1. Each of the next M lines contains
three integers f;, t;, and w; (0 < fi,t; < N, 1 < w; < 105), the two vertices connected by the
edge and the edge weight, respectively.

Output Specification

Output the minimum amount of fuel you have to spend on your trip.

Sample Input 1 Output for Sample Input 1

21 29
45
01 20

Sample Input 2 Output for Sample Input 2

33 33
10 40 20
011
024
212



